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1. A
2. A

3. D (Thrown Out at Convention)
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4. C
5. C
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6. A
7. A
8. C
9. B
10. A
11. C
12. D
13. B
Each staff member can clean (3)(8)=24 rooms per shift. 
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14. C
The couple can sit in seats (1,2)(2,3)(3,4)(4,5) or (5,6) in each of 6 rows. That makes 30 ways, but the couple can also sit Boy-Girl or Girl-Boy, so twice that is 60 ways. 

15. C
Sleepy, Dopey, Happy, Grumpy, Sneezy, Bashful are all Dwarf names, so 1 out of the 6.

16. D
17. A
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 each elevator can be on any of the 13 floors, and there are 8 elevators, so (13)(13)(13)…
18. B or C
19. C
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20. D
21. C
22. B
23. C
40 attractions would require 6 7-ride coupons. The cost would be (6)(4.75)=$28.50. Today’s cost is $89, so the inflation is $60.50. 
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24. B

25. C
40 inches is two standard deviations below the mean, by the empirical rule, this makes 97.5% of the population tall enough. 

26. A 
27. B
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28. D
29. B
30. D
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